

② Let $C = \cos \theta + \cos 3\theta + \cos 5\theta + \dots + \cos(2n-1)\theta$

Let $S = \sin \theta + \sin 3\theta + \sin 5\theta + \dots + \sin(2n-1)\theta$

$$\Rightarrow C + iS = (\cos \theta + i \sin \theta) + (\cos 3\theta + i \sin 3\theta) + \dots + (\cos(2n-1)\theta + i \sin(2n-1)\theta)$$

$$= e^{i\theta} + e^{i3\theta} + e^{i5\theta} + \dots + e^{i(2n-1)\theta}$$

Geometric Series
 $a = e^{i\theta}, r = e^{i2\theta}$

$$S_n = a \frac{r^n - 1}{r - 1}$$

$$\Rightarrow C + iS = \frac{e^{i\theta} (e^{i2n\theta} - 1)}{(e^{i2\theta} - 1)}$$

$$= \frac{e^{i\theta} \left(\frac{e^{in\theta} - 1}{e^{i\theta} - 1} - \frac{e^{i(n-2)\theta} - 1}{e^{i\theta} - 1} \right)}{e^{i\theta} \left(\frac{e^{i2\theta} - 1}{e^{i\theta} - 1} - \frac{e^{i(n-2)\theta} - 1}{e^{i\theta} - 1} \right)}$$

$$= \frac{e^{in\theta} (e^{i\theta} - 1) - e^{i(n-2)\theta} (e^{i\theta} - 1)}{e^{i\theta} (e^{i2\theta} - 1) - e^{i(n-2)\theta} (e^{i2\theta} - 1)}$$

$$\Rightarrow C + iS = \frac{e^{in\theta} (e^{i\theta} - 1) - e^{i(n-2)\theta} (e^{i\theta} - 1)}{e^{i\theta} (e^{i2\theta} - 1) - e^{i(n-2)\theta} (e^{i2\theta} - 1)}$$

Comparing Real part only

$$C = \cos n\theta \cdot \frac{\sin n\theta}{\sin \theta}$$

$$\cos \theta + \cos 3\theta + \cos 5\theta + \dots + \cos(2n-1)\theta = \cos n\theta \cdot \frac{\sin n\theta}{\sin \theta}$$

$$= \frac{2}{2} \cos n\theta \frac{\sin n\theta}{\sin \theta}$$

$$= \frac{\sin 2n\theta}{2 \sin \theta}$$

96

11.5-4

$$C = 1 + x \cos \theta + x^2 \cos 2\theta + \dots + x^n \cos n\theta$$

$$S = x \sin \theta + x^2 \sin 2\theta + \dots + x^n \sin n\theta$$

$$C + iS = 1 + x(\cos \theta + i \sin \theta) + x^2(\cos 2\theta + i \sin 2\theta) + \dots + x^n(\cos n\theta + i \sin n\theta)$$

$$C + iS = 1 + x e^{i\theta} + x^2 e^{i2\theta} + \dots + x^n e^{in\theta}$$

$$= 1 + x e^{i\theta} + x^2 e^{i2\theta} + x^3 e^{i3\theta} + \dots + x^n e^{in\theta}$$

G. Series

$$a = 1, r = x e^{i\theta}$$

$$n = n+1$$

$$S_n = a \left(\frac{r^{n+1} - 1}{r - 1} \right)$$

$$C + iS = \frac{(x e^{i\theta})^{n+1} - 1}{x e^{i\theta} - 1} = \frac{x^{n+1} e^{i(n+1)\theta} - 1}{x e^{i\theta} - 1}$$

$$= \frac{x^{n+1} \{ \cos(n+1)\theta + i \sin(n+1)\theta \} - 1}{x(\cos \theta + i \sin \theta) - 1}$$

Available at
www.mathcity.org

$$= \frac{(x^{n+1} \cos(n+1)\theta - 1) + i(x^{n+1} \sin(n+1)\theta)}{(x \cos \theta - 1) + i(x \sin \theta)}$$

$$= \frac{(x^{n+1} \cos(n+1)\theta - 1) + i(x^{n+1} \sin(n+1)\theta)}{(x \cos \theta - 1) + i(x \sin \theta)} \cdot \frac{(x \cos \theta - 1) - i(x \sin \theta)}{(x \cos \theta - 1) - i(x \sin \theta)}$$

$$C + iS = \frac{(x^{n+1} \cos(n+1)\theta - 1)(x \cos \theta - 1) + (x^{n+1} \sin(n+1)\theta)(x \sin \theta)}{(x \cos \theta - 1)^2 + (x \sin \theta)^2}$$

Preview from Notesale.co.uk
Page 4 of 14

$$C = \frac{x^{n+2} \cos(n+1)\theta \cos \theta - x^{n+1} \cos(n+1)\theta - x \cos \theta + 1 + x^{n+2} \sin(n+1)\theta \sin \theta}{x^2 \cos^2 \theta + 1 - 2x \cos \theta + x^2 \sin^2 \theta}$$

$$= \frac{x^{n+2} [\cos(n+1)\theta \cos \theta + \sin(n+1)\theta \sin \theta] - x^{n+1} \cos(n+1)\theta - x \cos \theta + 1}{x^2 (\cos^2 \theta + \sin^2 \theta) - 2x \cos \theta + 1}$$

$$C = \frac{x^{n+2} \cos(n+1)\theta - x^{n+1} \cos(n+1)\theta - x \cos \theta + 1}{x^2 - 2x \cos \theta + 1}$$

$$C = \frac{x^{n+2} \cos n\theta - x^{n+1} \cos(n+1)\theta - x \cos \theta + 1}{x^2 - 2x \cos \theta + 1} \quad \text{Ans}$$